T-\(;«; 2an =R Cond = 2% %3 %-_ 1916 &0
12@ o v L 3229587 2 =y 245 sen
EFV\L
Row ™t 5)&+ te’*
2= — 2% 16 54 J |

®'Lzak R (1 B 546D 0
%—:CQ‘L > =% - tenld = —S':'; (e~
Boo= 22583 2N M) =-Rat 4> =
D‘X “_5\6,7,5_1-[-\#
[ t=e MG » Res X~ =
E- L(S—V\/%-Z,—r{c% ¥ =0 s Z&L ¢ -< imr—o

A58 4 3
0 ( “)"
Db/

. =~ 5,625 N ‘
® g1~ \-;< H‘f:‘/‘?% 2=
b = MEs" -
H-F28—16C +Rer &- Fx " 0 =0 x,b %\’L{ Miuax N '
Potie. S M =O §_ Rex= 2716 N o a
shodaiid /T Huar = 3958 Bl = O 7 10628 (-5)62)

Hauae™ Hlx=140628) = 3ASE e N o




((-
I @
A\ 'G‘;L‘} o
-8.0
> — -8y
Vg cs’—:'bl\ob';“ £
o -1 A
0= 9 {
4 ﬂm

By Y K‘ow'l'toé:-k !

- 0D -
AN PPTALN g \L
/ eag N T
n _’gﬁ 2E4 =0

D“'SVd&'—‘- % Q\?)Z'Zﬂb'é:— C’{égfr’. S50

ngéito
$ NS R S-F - = Q, 0+ O 5=
Ryp= 4,1 &N
E&*O (&> hary
D\k-‘-zdka% ‘O
Eolk:“ﬁ‘/tb\]
SHA: =0 )
— op%'g'”"' Qx'1(§+®‘ 3-—1:2 2=0
j?-a,g\ 7’(?£0\)
¢%; =0 eof
%’Q{‘Q%“Fz =0 O:O\/
%/,{"‘ 2\;@:%{4““”4 - LWW
< By R
o Fag® RL =3, oo = 32 %40

H:fq;- EQ%' 1 = #{?
hg:ﬂ; Raz 2 = Qq'%—téﬁzg

Vi) = T~ 4% =6@32-3x¢
-3 _3 2
h(x)= Raz % — 4z = 63T %~ 2%

Mo = M(x=2(06) = w



